cell cost
[int]

"lethal" or "W-space" obstacle
e.g. cost_lethal=254 I range of costs meaning
| definitely in collision

"inscribed" or "C-space" obstacle

— exact (non-pixelized) footprint

e.g. cost_inscribed=253 e.9. 252 range of costs meaning
possibly in collision
"circumscribed" obstacle (depends on orientation)
e.g. cost_possibly_circumscribed=128
eg. 127
discretized cost decay function range of costs meaning
definitely not in collision
also the range where (most) user
lowest non-freespace nominal cost decay function I preferences should be expressed
cost=1 l
freespace
cost=0
inscribed circumscribed inflation distance from
radius radius radius closest W-space
obstacle cell
N— — [double]
—_—
buffer zone created by costmap_2d around
obstacles, in order to make the robot prefer
| | paths that keep some minimum clearance
_I I (this is a sort of default user preference)
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